FLEX-FIT Duo ICY DOCIK
Ultra Slim ODD Bay + 3.5" to 5.25" Front Bay Bracket Adapter

k Copyright © ICY DOCK International. All Rights Reserved. 650240 VER 1.0

Package Contents ® Packungsinhalt ® Contenu ® Contenido
del paquete ® TEEITDWT o EERAR o G415 AP

S

Device User manual 4 x M3*6 screw for device 2 x M3*6 black screw
for 3.5" device

nhh [
o v [

6 Pin Slimline SATA to 3 x M2*4 screw for Ultra Slim ODD 2 x #6-32*6 screw for 3.5" HDD
15 Pin SATA Power Cable (2 x screw for spare parts) (2 x screw for spare parts)

A WARNING: Please use the included screws to secure the drive(s).

3.5" Device Installation @ Installation eines 3,5" Gerates
@ |nstallation du dispositif 3.5" @ Instalacion del dispositivo de 3,5"
© 35" TNAREUFFIE® 350 HBLRELSER 0 35T RERESE

NOTE: Ultra Slim ODD, 3 DD & 3.5" device must be installed

before mounting the FLEX-FIT Duo on to the computer case.

By using both thumbs, press against the locking mechanism with a protruding dot, as shown in the
picture. Next, keep the pressure on your thumbs while sliding the 3.5" device in. Before releasing
your thumbs, make sure the protruding dot fits into the second screw holes on the sides
of the 3.5" device, as shown in the picture.

(Optional) Two M3*6 black screws can be installed into the front screw holes located on both sides
of the device for extra stability.

3.5" HDD Installation @ Installation einer 3,5" HDD e Installation du
disque dur 3.5" e Instalacion de unidad de disco duro o unidad de
estado sdlido de 3,5" e 3.5" HDDER{FF/E e 3.5 it %2 S 45 B8
o 35 THERRESR

3-1. Break off the dust cover from the middle of bracket and set it aside.

Dust cover

3-2. When installing 3.5" HDD, the locking mechanism cannot be used. Please use two #6-32*6
screws to mount the 3.5" HDD either on bottom (Option 1) or both sides (Option 2) of the bracket
as shown in the picture below.

Option 1T — "
2 x screws on bottom

Option 2—e-__L

2 x screws on both sides

3-3. When installing 3.5" HDD or if no 3.5" device is installed, insert the dust cover into opening slot
as the front for protection from dust and for aesthetic purpose.

Dust cover

Ultra Slim ODD Installation ® Optisches UltraSlim Laufwerk installieren
@ Installation de lecteur de disque optique ultrafin

o Installation de lecteur Ultra Slim ODD e R!) s34 FODDT /31 A D
EAFFIE o HERBHRETEE 0 9.5mMEIBRLERRESE

4-1 When installing Ultra Slim ODD. Please use the M2*4 screws to mount the Ultra Slim ODD
as shown in the picture.

(Optional) When no Ultra Slim ODD is installed, insert the dust cover into opening slot as the
front for protection from dust and for aesthetic purpose.

1. Break off the dust panel from the 2. Insert the dust panel into opening slot
back and set it aside

NOTE ¢ HINWEIS e REMARQUES © NOTA o H515 o j£5E o &iF:

ICY DOCK will not be liable for any software, hardware, or data stored within or interfacing with ICY DOCK products
which results in damage or malfunction. ICY DOCK will only be responsible for repairs and services of ICY DOCK
products.

Fur den Verlust von auf unseren Produkten oder mit Hilfe unserer Produkte gespeicherten Daten oder Schaden durch
jegliche Software oder Hardware die mit unseren Produkten verbunden ist, ist ICY DOCK nicht verantwortlich.ICY DOCK
Gbernimmt nur fiir die Reparatur von und Dienstleistungen fiir ICY DOCK Produkte Verantwortung.

La responsabilité de ICY DOCK ne pourra etre engagée que pour le dysfonctionnement de ses propres produits.
ICY DOCK no asumira ninguna responsabilidad por ningtin software, hardware o dato o almacenado dentro
de los productos ICY DOCK o que interactiian con estos que dé lugar dafos o errores. ICY DOCK solamente
se hara responsable de las reparaciones y servicios de los productos ICY DOCK.
ABERDBROTEAF RIS L > THDHEIRICHBLEARELIIGE . BE B AERLZTEEESTIRELAVET,
thDEBORFICHLTIE—VDEEEZAVFEL A,

BT EEFAAE RIETEM AR A8, ANREREARERZBERE, EAHMRERRRT AN,
MERLERAREMER L CTRRRGEZYE, AXFRABAR~RZRIERE, EALTRERRBMR A%,




